Chapter 17

Initial Public Offerings, Investment Banking, and Financial Restructuring

ANSWERS TO BEGINNING-OF-CHAPTER QUESTIONS
17-1
Reasons for going public include the following.  Note that, generally, several of these reasons will be important at the time of the IPO.

· To raise additional capital.  Original investors may be tapped out, or they may not want to put additional funds into the business for diversification reasons.  Thus, the company needs to bring in outside funds, and an IPO is the most efficient way of doing so.

· Founding stockholders want liquidity, which a public market would provide.

· Founding stockholders want to diversify.  They can sell some shares during or after an IPO. 

· Many companies use stock options as part of their compensation plans.  Employees with options, like founding stockholders, want liquidity and the opportunity to diversify their holdings.

· To establish a market price, which is useful for incentive employee option programs, for mergers, for estate tax purposes, and in divorce situations.

· Public ownership may help the company make sales, because public ownership may provide credibility with regard to “staying power”—no one wants to be dependent on a supplier that goes under because it was unable to raise needed capital.  Also, public ownership may provide some beneficial advertising effects.



Some downsides to public ownership include: Costs, disclosure requirements, harder to engage in self-dealings that benefit the controlling stockholders.



Also, analysts do not follow very small stocks where trading volume is necessarily small.  Therefore, if a firm is so small that an active market for its stock cannot be developed, then public ownership won’t really make it liquid, and the price will fluctuate widely and not necessarily reflect the firm’s true value.



In addition, if the firm goes public, it might be easier for a raider to gain control and oust the managers.  This is something that managers consider, especially if the management team will not have over 50% of the stock after the public offering.



Finally, it is interesting to note that some very large companies with tens of thousands of employees like Publix, CM2Hill, and Cargill have been able to get most of the advantages listed above without actually going public.  These companies have developed internal markets that work as follows:  (1) The company hires an investment banking firm to operate the plan, which is set up much like a mutual fund, with each participating employee having an account.  (2) The banker develops a formula for pricing the stock, taking account of book value and earnings per share, the state of the stock market as measured by an index of comparable companies’ stock plus an index such as the S&P 500, the level of interest rates, and so forth.  The formula will be adjusted over time to ensure that there is a fairly good balance between buyers and sellers. (3) Several times a year, employees will be given the opportunity to buy or sell shares at the announced formula price.  If more buy orders than sell orders come in, the company may create and sell new shares.  If sell orders exceed buy orders, the company will buy the excess and thus offset the imbalance.  The company can also offer new shares to its employees if it wants to raise additional equity capital, or it can repurchase shares if it wants to reduce equity.  If the company is large enough, such an internal market will provide liquidity and also serve most of the other functions of a public market, with the additional advantage that all of its stockholders will be in a position (as employees) to help the company perform well operationally.
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In the late 1990s it was common for IPO stocks to rise far above the offering price on the first day of trading.  This situation indicated that companies were “leaving money on the table,” i.e., that they could have gotten more for the shares they sold than they actually received.  This under-pricing was rationalized on several grounds, including (1) that it reduced risk to the underwriter and thus lowered costs to the issuer, (2) that it helped enhance the reputation of the underwriter, which benefited the issuer, and (3) that it helped insure a successful offering and thus made follow-on offerings easier to complete.  In addition, if the issuing firm sold only a small percentage of its shares, the under-pricing did not cause too much of a problem on a percentage basis.   



Note too that today it is clear that the analysts who worked for some investment bankers rated some stocks higher than the fundamentals would justify, making the offering price closer to the underlying value than appeared from the post-issue run-up.  Also, and very importantly, under-pricing enabled investment bankers to reward their good customers and give what amounted to bribes to executives of companies that were potential underwriting clients.  Several investment banking firms have been sued in connection with this practice.



The situation changed after 2000, when stocks, and especially the kinds of Nasdaq stocks that had been leading the IPO market, crashed.  Then, it became difficult for a company to have an IPO, and the few that came out rarely had big run-ups and often actually declined.  See text Table 17-2 for data on this issue, and note that the corresponding table in the last edition of the text (two years earlier) showed far higher run-ups.



The subsequent crash in stock prices suggests that the valuations put on many IPOs, and on tech stock in general, was also too high, which could be another sign of an inefficient market.  That would not necessarily relate to inefficiency in the IPO market per se, but in the late 1990s the IPO market and the general stock market, especially the Nasdaq market, were closely related.



All of this does suggest that the IPO market was not very efficient, at least in the late 1990s, in the sense of giving the seller the highest price buyers were willing to pay.    The SEC and the NASD are currently (March 2003) investigating the IPO market, and the end result may be a more efficient IPO market in the future.


Example of IPO Pricing



An example of how an IPO would be priced is shown in the BOC model. The valuation is, of course, a critical issue.  Theoretically, the proper pricing basis is the DCF model as discussed in Chapters 4 and 10.  Data on publicly-owned companies that are comparable to the company that is going public would be obtained and used to develop a discount rate, which would then applied to the company’s projected cash flows.  Although the DCF model should be given the most weight in the valuation, investment bankers also look at selected multiples, especially the P/E and M/B ratios.  For example, if a set of comparable companies has an average P/E of 20 and an average M/B of 3.0, and if the company in question has total earnings of $10 million and total book equity of $70 million, then it’s valuation would be  $10,000,000(20)  =  $200 million by the P/E multiple method and $70,000,000(3.0) = $210 million by the M/B multiple method. Then, if the DCF analysis had also produced a valuation of about $205 million, the final corporate valuation would be set at $205 million.  Of course, the three methods would rarely if ever produce exactly the same results, so in practice the final valuation would be some sort of judgmentally determined weighted average of the three separate valuations.



Given the total valuation, the bankers would need to find a price per share.  Bankers generally like to offer new stock at about $15 per share, though a higher price may be used for IPOs of large, established companies like Kraft, which came out at $31 per share.  Assuming the target price is $15, then the company will divide the total value by $15 to determine the total number of shares, so in our example the company should have $205,000,000 / $15  =  13,666,667 shares outstanding when it goes public.  If the actual number of shares currently outstanding is different from this target, then a split or reverse split would be used to get to the target number.



IPOs can consist entirely of currently outstanding shares to be sold by current stockholders, or entirely of new shares sold by the company to raise new capital, or a combination of the two.



Suppose the company wants to raise $10 million of new money to fund its business plan.  If it needs 10 million but flotation costs would amount to 7%, then it will have to raise a gross amount of $10 million / (1.0 – 0.07) = $10,752,688.  In that case, it would issue $10,752,688 / $15  = 716,846 shares.  
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A rights offering is when a company sells shares and offers those shares to its current shareholders on a pro rata basis.  Each shareholder is given an option called a “right” to buy a stated number of shares at a specified price within a stated period.  The stockholder can exercise the right and buy new shares or sell the right to some other party who wants to buy the new shares.  Typically, companies use rights offerings in order to allow existing stockholders to maintain their relative position in the company, if they so desire.  Most private companies have the preemptive right, but most public companies do not, because stockholders can increase or decrease their holding in public companies easily.



An example of a rights offering is provided in the Excel model.  It illustrates how rights are valued.  It also shows that the lower the exercise price, the greater the “stock split effect,” and it shows that stockholders will come out with the same wealth regardless of whether they sell their rights or exercise them.
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An original issue discount (OID) bond is a bond that, when issued, provides a coupon rate that is below the current market interest rate, i.e., rcoupon < rd.  Since the coupon rate is low, the bond will sell at a discount, but the discount must be such that the expected return on the bond is equal to rd.  Of course, many bonds, when they are sold, have rcoupon = rd , but rising rates in the marketplace cause the bond to sell at a discount.  Those bonds are not original issue discount bonds—they are just plain bonds that sell at a discount due to changing market conditions.  



One important class of OID bonds is the zero coupon bond, which pays no interest, sells at a substantial discount, and they pays off at face value when it matures.

 

The value of  zeros and other discount bond tends to rise over time, and their value must be close to their face value ($1,000) just before maturity unless they are likely to default.  The projected annual increase in value is called “accretion,” and for an original issue discount bond, it is treated for tax purposes as ordinary income, not capital gains.  If a bond is issued at par and then falls to a discount due to interest rate changes, then someone who purchases this discount bond can earn a capital gain if interest rates later fall and the bond rises in value.



OID bonds are typically callable at the accreted value plus a specified call premium, such as 2% over the accreted value.



An example that shows how zeros are evaluated, and how returns on such bonds are calculated, is provided in the Excel model.
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The bond refunding decision is, in essence, a capital budgeting decision.  A bond will be called if interest rates decline after the bond was issued by an amount sufficient to cause the annual interest saving from getting rid of the old-high interest bond and replacing it with a new low-interest bond to offset the costs associated with the refunding, mainly a call premium and flotation costs for the new issue.  If the PV of the interest savings is greater than the costs associated with the refunding, then the refunding will be profitable.  Taxes must be taken into account, and the flotation costs associated with the new and old issues must be dealt with properly.  An example of refunding analysis is provided in the Excel model.



Even though the NPV found in a refunding analysis is positive, it might be better to wait rather than call the bond immediately.  If interest rates continue to decline, the NPV of the refunding might be much greater if the company delays the call.  The ability to call the bond is an option that the issuing company holds, and when they issue the call, they are exercising the option.  Like any option, it may or may not be advantageous to exercise it when it first gets “in the money.”  So, a critical element in the refunding analysis is a projection of future interest rates, and if rates are likely to decline in the future it may be best to delay the call.  Again, this is illustrated in the model.

ANSWERS TO END-OF-CHAPTER QUESTIONS

17-1
a.
A closely held corporation goes public when it sells stock to the general public.  Going public increases the liquidity of the stock, establishes a market value, facilitates raising new equity, and allows the original owners to diversify.  However, going public increases business costs, requires disclosure of operating data, and reduces the control of the original owners.  The new issue market is the market for stock of companies that go public, and the issue is called an initial public offering (IPO).

b.
A rights offering occurs when a corporation sells a new issue of common stock to its existing stockholders.  Each stockholder receives a certificate called a stock purchase right, or right, giving the stockholder the option to purchase a specified number of the new shares.  The rights are issued in proportion to the amount of stock that each shareholder currently owns.

c.
A public offering is an offer of new common stock to the general public; in other words, an offer in which the existing shareholders are not given any preemptive right to purchase the new shares.  A private placement is the sale of stock to only one or a few investors, usually institutional investors.  The advantages of private placements are lower flotation costs and greater speed, since the shares issued are not subject to SEC registration.

d.
A venture capitalist is the manager of a venture capital fund.  The fund raises most of its capital from institutional investors and invests in start-up companies in exchange for equity.  The venture capitalist gets a seat on the companies’ boards of directors.  Before an IPO, the senior management team and the investment banker make presentations to potential investors.  They make presentations in tent to twenty cities, with three to five presentations per day, over a two week period.  The spread is the difference between the price at which an underwriter sells the stock in an IPO and the proceeds that the underwriter passes on to the issuing firm.  In other words, it is the fee collected by the underwriter, and it usually is seven percent of the offering price.  

e.
The Securities and Exchange Commission (SEC) is a government agency which regulates the sales of new securities and the operations of securities exchanges.  The SEC, along with other government agencies and self-regulation, helps ensure stable markets, sound brokerage firms, and the absence of stock manipulation.  Registration of securities is required of companies by the SEC before the securities can be offered to the public.  The registration statement is used to summarize various financial and legal information about the company. Frequently, companies will file a master registration statement and then update it with a short-form statement just before an offering. This procedure is termed shelf registration because companies put new securities “on the shelf” and then later sell them when the market is right.  Blue sky laws are laws that prevent the sale of securities that have little or no asset backing.  The margin is the percentage of a stock’s price that an investor has borrowed in order to purchase the stock.  The SEC sets margin requirements, which is the maximum percentage of debt that can be used to purchase a stock.  The SEC also controls trading by corporate insiders, who are the officers, directors, and major stockholders of the firm.

f.
A prospectus summarizes information about a new security issue and the issuing company.  A “red herring,” or preliminary prospectus, may be distributed to potential buyers prior to approval of the registration statement by the SEC.  After the registration has become effective, the securities, accompanied by the prospectus, may be offered for sale.

g.
The National Association of Securities Dealers (NASD) is an industry group primarily concerned with the operation of the over-the-counter (OTC) market.

h.
A best efforts arrangement versus an underwritten sale refers to two methods of selling new stock issues.  In a best efforts sale, the investment banker is only committed to making every effort to sell the stock at the offering price.  In this case, the issuing firm bears the risk that the new issue will not be fully subscribed.  If the issue is underwritten, the investment banker agrees to buy the entire issue at a set price, and then resells the stock at the offering price.  Thus, the risk of selling the issue rests with the investment banker.

i.
A zero coupon bond has no coupons, thus pays no annual interest.  The bondholder only receives the par value at maturity.  Therefore, zero coupon bonds have certain advan​tages to both the issuer and bondholder, especially bond​holders that are tax exempt, such as pension funds.  An original issue discount (OID) bond is one which was issued at a price well below its par value.  An OID bond can be either a zero coupon bond or a bond with an interest rate substantially lower than the current market rate.

j.
Refunding occurs when a company issues debt at current low rates and uses the proceeds to repurchase one of its existing high coupon rate debt issues.  Often these are callable issues, which means the company can purchase the debt at a lower-than-market price.

k.
Project financings are arrangements used to finance mainly large capital projects such as energy explorations, oil tankers, refineries, utility power plants, and so on.  Usually, one or more firms (sponsors) will provide the equity capital required by the project, while the rest of the project’s capital is supplied by lenders and lessors.  The most important aspect of project financing is that the lenders and lessors do not have recourse against the sponsors; they must be repaid from the project’s cash flows and the equity cushion provided by the sponsors.

l.
Securitization is the process whereby financial instruments that were previously thinly traded are converted to a form that creates greater liquidity.  Securitization also applies to the situation where specific assets are pledged as collateral for securities, and hence asset-backed securities are created.  One example of the former is junk bonds; an example of the latter is mortgage-backed securities.

m.
Maturity matching refers to matching the maturities of debt used to finance assets with the lives of the assets themselves.  The debt would be amortized such that the outstanding amount declined as the asset lost value due to depreciation.

17-2
No.  The role of the investment banker is more important if the stock demand curve has a steep slope and the negative signaling effect is substantial.  Under such conditions, the investment banker will have a harder time holding up the stock price.

17-3
No.  The real value of a security is determined by the equilibrium forces of an efficient market.  Assuming that the information provided on newly issued securities is accurate, the market will establish the value of a security regardless of the opinions rendered by the SEC, or, for that matter, opinions offered by any advisory service or analyst.
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a.
Going public would tend to make attracting capital easier and to decrease flotation costs.

b.
The increasing institutionalization of the “buy side” of the stock and bond markets should increase a firm’s ability to attract capital and should reduce flotation costs.

c.
Financial conglomerates can offer a variety of financial services and types of investments, thus it seems a company’s ability to attract capital would increase and flotation costs would decrease.

d.
Elimination of the preemptive right would likely not affect a large company where percentage ownership is not as important.  Indeed, the trend today seems to be for companies to eliminate the preemptive right.

f.
The introduction of shelf registration tended to speed up SEC review time and lower the costs of floating each new issue.  Thus, the company’s ability to attract new capital was increased.

17-5
Investment bankers must investigate the firms whose securities they sell, simply because, if an issue is overvalued and suffers marked price declines after the issue, the banker will find it increasingly difficult to dispose of the new issue.  In other words, reputation is highly important in the investment banking industry.

17-6
a.
The average investor in a listed firm is not really interested in maintaining his proportionate share of ownership and control.  If he wanted to increase his ownership, he could simply buy more stock on the open market.  Consequently, most investors are not concerned with whether new shares are sold directly to the public (at about market prices) or through rights offerings.  However, if a rights offering is being used to effect a stock split, or if it is being used to reduce the underwriting cost of an issue (by substantial underpricing), it may well be beneficial to the firm and its stockholders.

b.
The preemptive right is clearly important to the stockholders of privately-owned firms whose owners are interested in maintaining their relative control positions.

c.
In general, distribution will be wider if stock is sold directly to underwriters, who in turn sell it to the general public.

d.
A firm would desire a wider distribution of its stock for the following reasons:

1.
To increase the size of its market for future stock issues.

2.
To increase the number of shareholders, thus improving the feasibility of management control or control by a group with 5 to 10 percent of the company’s stock.

3.
To meet organized security exchange’s requirements of a wide geographic distribution of stockholders throughout the country.

4.
To gain potential customers, as stockholders will be favorably disposed to patronize the firm.

SOLUTIONS TO END-OF-CHAPTER PROBLEMS

17-1
a.
$5 per share

Gross proceeds = (3,000,000)($5) = $15,000,000.

Net profit = $15,000,000 - $14,000,000 - $300,000 = $700,000.

b.
$6 per share

Gross proceeds = (3,000,000)($6) = $18,000,000.

Net profit = $18,000,000 - $14,000,000 - $300,000 = $3,700,000.

c.
$4 per share

Gross proceeds = (3,000,000)($4) = $12,000,000.

Net profit = $12,000,000 - $14,000,000 - $300,000 = -$2,300,000.

17-2
Net proceeds per share = $22(1 - 0.05) = $20.90.

Number of shares to be sold = ($20,000,000 + 150,000)/$20.90 = 964,115 shares.

17-3
a.
If 100 shares are outstanding, then we have the following for Edelman:




                           1998       2003




Earnings per share        $8,160    $12,000




Dividends per share        4,200      6,000




Book value per share                 90,000

b.
Using the following two equations, the growth rate for EPS and DPS can be determined.

(1 + gEPS)5 EPS98 = EPS03.

(1 + gDPS)5 DPS98 = DPS03.


                    gEPS        gDPS

Kennedy             8.4%       8.4%


Strasburg           6.4        6.4


Edelman             8.0        7.4

c.
Based on the figures in Part a, it is obvious that Edelman’s stock would not sell in the range of $25 to $100 per share.  The small number of shares outstanding has greatly inflated EPS, DPS, and book value per share.  Should Edelman attempt to sell its stock based on the EPS and DPS above, it would have difficulty finding investors at the economically justified price.

d.
Edelman’s management would probably be wise to split the stock so that EPS, DPS, and book value were closer to those of Kennedy and Strasburg. This would bring the price of the stock into a more reasonable range.

e.
A 4,000-for-1 split would result in 400,000 shares outstanding.  If Edelman has 400,000 shares outstanding, then we would have the following:


                            1998        2003


Earnings per share         $2.04       $ 3.00


Dividends per share         1.05         1.50


Book value per share                    22.50

f.

                        ROE




Kennedy               15.00%




Strasburg             13.64




Edelman               13.33


g.

                  Payout Ratio



                  1998    2003



Kennedy            50%     50%




Strasburg          50      50




Edelman            51      50

All three companies seem to be following similar divi​dend policies, paying out about 50 percent of their earn​ings.

h.
D/A is 43 percent for Kennedy, 37 percent for Strasburg, and 55 percent for Edelman.  This suggests that Edelman is more risky, hence should sell at relatively low multiples.


i.

                       P/E        



Kennedy         $36/$4.50 = 8.00(



Strasburg       $65/$7.50 = 8.67

These ratios are not consistent with g and ROE; based on gs and ROEs, Kennedy should have the higher P/E.  Probably size, listing status, and debt ratios are offsetting g and ROE.

j.
The market prices of Kennedy and Strasburg yield the following multiples:



             Multiple of   Multiple of     Multiple of Book



              EPS, 2003     DPS, 2003    Value per Share, 2003


Kennedy         8.00(         16.00(             1.20(


Strasburg       8.67          17.33              1.18

Applying these multiples to the data in Part e, we obtain the following market prices:



                                    Indicated Market Price



                                      for Edelman Stock



                                       Based on Data of:   


                                    Kennedy      Strasburg
Based on earnings, 2003             $24.00         $26.01

Based on dividends, 2003             24.00          26.00

Based on book value per share        27.00          26.55

k.
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l.
The potential range, based on these data, is between $21.54 and $33.66 a share.  The data suggest that the price would be set toward the low end of the range:  (1) Edelman has a high debt ratio, (2) Edelman is relatively small, and (3) Edelman is new and will not be traded on an exchange.  The actual price would be based on negotiations between the underwriter and Edelman; we cannot say what the exact price would be, but the price would probably be set below $21.54, with $20 being a reasonable guess.

17‑4 a.
Since the call premium is 11 percent, the total premium is 0.11($40,000,000) = $4,400,000.  However, this is a tax deductible expense, so the relevant after‑tax cost is $4,400,000(1 - T) = $4,400,000(0.60) = $2,640,000. 

b.
The dollar flotation cost on the new issue is 0.04($40,000,000) = $1,600,000.  This cost is not immediately tax deductible, and hence the after‑tax cost is also $1,600,000.  (Note that the flotation cost can be amortized and expensed over the life of the issue.  The value of this tax savings will be calculated in Part e.)

c.
The flotation costs on the old issue were 0.06($40,000,000) = $2,400,000.  These costs were deferred and are being amortized over the 25-year life of the issue, and hence $2,400,000/25 = $96,000 are being expensed each year, or $48,000 each 6 months.  Since the bonds were issued 5 years ago, (5/25)($2,400,000) = $480,000 of the flotation costs have already been expensed, and (20/25)($2,400,000) = $1,920,000 remain unexpensed. 

If the issue is refunded, the unexpensed portion of the flotation costs can be immediately expensed, and this would result in a tax savings of T($1,920,000) = 0.40($1,920,000) = $768,000.

d.
The net after‑tax cash outlay is $3,472,000, as shown below:

                        Old issue call premium        $2,640,000

                        New issue flotation cost       1,600,000

                        Tax savings on old issue      

                          flotation costs               (768,000)

                        Net cash outlay               $3,472,000
e.
The new issue flotation costs of $1,600,000 would be amortized over the 20‑year life of the issue.  Thus, $1,600,000/20 = $80,000 would be expensed each year, or $40,000 each 6 months.  The tax savings from this tax deduction is (0.40)$40,000 = $16,000 per semiannual period.

By refunding the old issue and immediately expensing the remaining old issue flotation costs, the firm forgoes the opportunity to continue to expense the old flotation costs over time.  Specifically, $2,400,000/25 = $96,000 each year, or $48,000 semiannually.  The value of each $48,000 deduction forgone is 0.40($48,000) = $19,200.

f.
The interest on the old issue is 0.11($40,000,000) = $4,400,000 annually, or $2,200,000 semiannually.  Since interest payments are tax deductible, the after‑tax semiannual amount is 0.6($2,200,000) = $1,320,000.

The new issue carries an 8 percent coupon rate.  Therefore, the annual interest would be 0.08($40,000,000) = $3,200,000, or $1,600,000 semiannually.  The after‑tax cost is thus 0.6($1,600,000) = $960,000.  Thus, the after‑tax net interest savings if refunding takes place would be $1,320,000 ─ $960,000 = $360,000 semiannually. 

g.
The net amortization tax effects are ─$3,200 per year for 20 years, while the net interest savings are $360,000 per year for 20 years.  Thus, the net semiannual cash flow is $356,800, as shown below.

SEMIANNUAL FLOTATION COST TAX EFFECTS:

Semiannual tax savings on new flotation:      $16,000

Tax benefits lost on old flotation:           (19,200)

Net amortization tax effects                 ($ 3,200)

SEMIANNUAL INTEREST SAVINGS DUE TO REFUNDING:

Semiannual interest on old bond:           $1,320,000

Semiannual interest on new bond:             (960,000)

Net interest savings                       $  360,000
Semiannual cash flow:                      $  356,800
The cash flows are based on contractual obligations, and hence have about the same amount of risk as the firm's debt.  Further, the cash flows are already net of taxes.  Thus, the appropriate interest rate is GST's after‑tax cost of debt.  (The source of the cash to fund the net investment outlay also influences the discount rate, but most firms use debt to finance this outlay, and, in this case, the discount rate should be the after‑tax cost of debt.)  Finally, since we are valuing future flows, the appropriate debt cost is today's cost, or the cost of the new issue, and not the cost of debt floated 5 years ago.  Thus, the appropriate discount rate is 0.6(8%) = 4.8% annually, or 2.4 percent per semiannual period. 

At this discount rate, the present value of the semiannual net cash flows is $9,109,425:


PV = $356,800(PVIFA2.4%,40) = $9,109,425.

Alternatively, using a financial calculator, input N = 40, I = 2.4, PMT = -356800, FV = 0, PV = ?  PV = $9,109,413.

h.
The bond refunding would require a $3,472,000 net cash outlay, but it would produce $9,109,413 in net savings on a present value basis.  Thus, the NPV of refunding is $5,637,413: 

PV of net benefits           $9,109,413

Cost                         (3,472,000)

Refunding NPV                $5,637,413
The decision to refund now rather than wait till later is much more difficult than finding the NPV of refunding now.  If interest rates were expected to fall, and hence GST would be able to issue debt in the future below today's 8 percent rate, then it might pay to wait.  However, interest rate movements are very difficult, if not impossible, to forecast, and hence most financial managers would probably take the "bird-in-the-hand" and refund now with such a large NPV.  Note, though, that if the NPV had been quite small, say $1,000, management would have undoubtedly waited, hoping that interest rates would fall further, and the cost of waiting ($1,000) would not have been high enough to worry about.

17-5
a.
Investment outlay required to refund the issue:

Call premium on old issue:                    $5,400,000 

New flotation cost:                            5,000,000 

Tax savings on old flotation:                 (1,666,667) 

Additional interest on old issue:                450,000 

Interest earned on investment:                  (225,000)

Total investment outlay:                      $8,958,333
Annual Flotation Cost Tax Effects:
Annual tax savings on new flotation:          $   80,000 

Tax benefits lost on old flotation:              (66,667)

Amortization tax effects                      $   13,333
Annual Interest Savings Due to Refunding:
Annual interest on old bond:                  $5,400,000 

Annual interest on new bond:                  (4,500,000)

Net interest savings                          $  900,000
 Annual cash flows:                           $  913,333
NPV of refunding decision:                    $2,717,128 

Using a financial calculator, enter the cash flows into the cash flow register, I = 6, NPV = ?  NPV = $2,717,128.

b.
The company should consider what interest rates might be next year.  If there is a high probability that rates will drop below the current rate, it may be more advantageous to refund later versus now.  If there is a high probability that rates will increase, the firm should act now to refund the old issue.  Also, the company should consider how much ill will is created with investors if the issue is called.  If Tarpon is highly dependent on a small group of investors, it would want to avoid future difficulty in obtaining financing.  However, bond issues are callable after a certain time and investors expect them to be called if rates drop considerably.

SOLUTION TO SPREADSHEET PROBLEM

17-6

The detailed solution for the problem is available both on the instructor’s resource CD-ROM (in the file Solution for Ch 17 P6 Build a Model.xls) and on the instructor’s side of the web site, http://brigham.swcollege.com.

MINI CASE

RANDY’S, A FAMILY-OWNED RESTAURANT CHAIN OPERATING IN ALABAMA, HAS GROWN TO THE POINT WHERE EXPANSION THROUGHOUT THE ENTIRE SOUTHEAST IS FEASIBLE.  THE PROPOSED EXPANSION WOULD REQUIRE THE FIRM TO RAISE ABOUT $15 MILLION IN NEW CAPITAL. BECAUSE RANDY’S CURRENTLY HAS A DEBT RATIO OF 50 PERCENT, AND ALSO BECAUSE THE FAMILY MEMBERS ALREADY HAVE ALL THEIR PERSONAL WEALTH INVESTED IN THE COMPANY, THE FAMILY WOULD LIKE TO SELL COMMON STOCK TO THE PUBLIC TO RAISE THE $15 MILLION.  HOWEVER, THE FAMILY DOES WANT TO RETAIN VOTING CONTROL.  YOU HAVE BEEN ASKED TO BRIEF THE FAMILY MEMBERS ON THE ISSUES INVOLVED BY ANSWERING THE FOLLOWING QUESTIONS:

A.

WHAT AGENCIES REGULATE SECURITIES MARKETS?

ANSWER:
THE MAIN AGENCY THAT REGULATES THE SECURITIES MARKET IS THE SECURITIES AND EXCHANGE COMMISSION.  SOME OF THE RESPONSIBILITIES OF THE SEC INCLUDE:  REGULATION OF ALL NATIONAL STOCK EXCHANGES--COMPANIES WHOSE SECURITIES ARE LISTED ON AN EXCHANGE MUST FILE ANNUAL REPORTS WITH THE SEC; PROHIBITING MANIPULATION BY POOLS OR WASH SALES; CONTROLS OVER TRADING BY CORPORATE INSIDERS; AND CONTROL OVER THE PROXY STATEMENT AND HOW IT IS USED TO SOLICIT VOTES.

THE FEDERAL RESERVE BOARD CONTROLS FLOW OF CREDIT INTO SECURITY TRANSACTIONS THROUGH MARGIN REQUIREMENTS.  STATES ALSO HAVE SOME CONTROL OVER THE ISSUANCE OF NEW SECURITIES WITHIN THEIR BOUNDARIES. THE SECURITIES INDUSTRY ITSELF REALIZES THE IMPORTANCE OF STABLE MARKETS, THEREFORE, THE VARIOUS EXCHANGES WORK CLOSELY WITH THE SEC TO POLICE TRANSACTIONS AND TO MAINTAIN THE INTEGRITY AND CREDIBILITY OF THE SYSTEM.

B.

HOW ARE START-UP FIRMS USUALLY FINANCED?

ANSWER:
THE FIRST FINANCING COMES FROM THE FOUNDERS.  THE FIRST EXTERNAL FINANCING COMES FROM ANGELS, WHO ARE WEALTHY INDIVIDUALS.  THE NEXT EXTERNAL FINANCING COMES FROM A VENTURE CAPITAL FUND.  THE FUND RAISES CAPITAL FROM INSTITUTIONAL INVESTORS, USUALLY AROUND $70 TO $80 MILLION.  THE MANAGERS OF THE FUND ARE CALLED VENTURE CAPITALISTS.  THE FUND INVESTS IN TEN TO TWELVE COMPANIES, AND THE VENTURE CAPITALIST SITS ON THEIR BOARDS.

C.

DIFFERENTIATE BETWEEN A PRIVATE PLACEMENT AND A PUBLIC OFFERING.
ANSWER:
IN A PRIVATE PLACEMENT STOCK IS SOLD DIRECTLY TO ONE OR A SMALL GROUP OF INVESTORS RATHER THAN BEING DISTRIBUTED TO THE PUBLIC AT LARGE.  A PRIVATE PLACEMENT HAS THE ADVANTAGE OF LOWER FLOTATION COSTS; HOWEVER, SINCE THE STOCK WOULD BE BOUGHT BY A SMALL NUMBER OF OUTSIDERS, IT WOULD NOT BE ACTIVELY TRADED, AND A LIQUID MARKET WOULD NOT EXIST. FURTHER, SINCE IT WOULD NOT HAVE GONE THROUGH THE SEC REGISTRATION PROCESS, THE HOLDERS WOULD BE UNABLE TO SELL IT EXCEPT TO A RESTRICTED SET OF “SOPHISTICATED” INVESTORS.  FURTHER, IT MIGHT BE DIFFICULT TO FIND INVESTORS WILLING TO INVEST LARGE SUMS IN THE COMPANY AND YET BE MINORITY STOCKHOLDERS.  THUS, MANY OF THE ADVANTAGES LISTED ABOVE WOULD NOT BE OBTAINED.  FOR THESE REASONS, A PUBLIC PLACEMENT MAKES MORE SENSE IN RANDY’S SITUATION.

D.

WHY WOULD A COMPANY CONSIDER GOING PUBLIC?  WHAT ARE SOME ADVANTAGES AND DISADVANTAGES?

ANSWER:
A FIRM IS SAID TO BE “GOING PUBLIC” WHEN IT SELLS STOCK TO THE PUBLIC FOR THE FIRST TIME.  A COMPANY’S FIRST STOCK OFFERING TO THE PUBLIC IS CALLED AN “INITIAL PUBLIC OFFERING (IPO).”  THUS, RANDY’S WILL GO PUBLIC IF IT GOES THROUGH WITH ITS PLANNED IPO.  THERE ARE SEVERAL ADVANTAGES AND DISADVANTAGES TO GOING PUBLIC:

ADVANTAGES TO GOING PUBLIC:

· GOING PUBLIC WILL ALLOW THE FAMILY MEMBERS TO DIVERSIFY THEIR ASSETS AND REDUCE THE RISKINESS OF THEIR PERSONAL PORTFOLIOS.

· IT WILL INCREASE THE LIQUIDITY OF THE FIRM’S STOCK, ALLOWING THE FAMILY STOCKHOLDERS TO SELL SOME STOCK IF THEY NEED TO RAISE CASH.

· IT WILL MAKE IT EASIER FOR THE FIRM TO RAISE FUNDS.  THE FIRM WOULD HAVE A DIFFICULT TIME TRYING TO SELL STOCK PRIVATELY TO AN INVESTOR WHO WAS NOT A FAMILY MEMBER.  OUTSIDE INVESTORS WOULD BE MORE WILLING TO PURCHASE THE STOCK OF A PUBLICLY HELD CORPORATION WHICH MUST FILE FINANCIAL REPORTS WITH THE SEC.

· GOING PUBLIC WILL ESTABLISH A VALUE FOR THE FIRM.

DISADVANTAGES TO GOING PUBLIC:
· THE FIRM WILL HAVE TO FILE FINANCIAL REPORTS WITH THE SEC AND PERHAPS WITH STATE OFFICIALS.  THERE IS A COST INVOLVED IN PREPARING THESE REPORTS.

· THE FIRM WILL HAVE TO DISCLOSE OPERATING DATA TO THE PUBLIC.  MANY SMALL FIRMS DO NOT LIKE HAVING TO DO THIS, BECAUSE SUCH INFORMATION IS AVAILABLE TO COMPETITORS.  ALSO, SOME OF THE FIRM’S OFFICERS, DIRECTORS, AND MAJOR STOCKHOLDERS WILL HAVE TO DISCLOSE THEIR STOCK HOLDINGS, MAKING IT EASY FOR OTHERS TO ESTIMATE THEIR NET WORTH.

· MANAGERS OF PUBLICLY-OWNED CORPORATIONS HAVE A MORE DIFFICULT TIME ENGAGING IN DEALS WHICH BENEFIT THEM PERSONALLY, SUCH AS PAYING THEMSELVES HIGH SALARIES, HIRING FAMILY MEMBERS, AND ENJOYING NOT-STRICTLY-NECESSARY, BUT TAX-DEDUCTIBLE, FRINGE BENEFITS.

· IF THE COMPANY IS VERY SMALL, ITS STOCK MAY NOT BE TRADED ACTIVELY AND THE MARKET PRICE MAY NOT REFLECT THE STOCK’S TRUE VALUE.

THE ADVANTAGES OF PUBLIC OWNERSHIP WOULD BE RECOGNIZED BY KEY EMPLOYEES, WHO WOULD MOST LIKELY BE GRANTED STOCK OPTIONS, WHICH WOULD CERTAINLY BE MORE VALUABLE IF THE STOCK WERE PUBLICLY TRADED.

E.

WHAT ARE THE STEPS OF AN INITIAL PUBLIC OFFERING?

ANSWER:
SELECT AN INVESTMENT BANKER, FILE THE S-1 REGISTRATION DOCUMENT WITH THE SEC, CHOOSE A PRICE RANGE FOR THE PRELIMINARY, OR “RED HERRING,” PROSPECTUS, GO ON A ROADSHOW, SET FINAL PRICE ON FINAL PROSPECTUS.

F.

WHAT CRITERIA ARE IMPORTANT IN CHOOSING AN INVESTMENT BANKER?

ANSWER:
(1) REPUTATION AND EXPERIENCE IN THE INDUSTRY. (2) EXISITNG MIX OF INSTITUTIONAL AND RETAIL (I.E., INDIVIDUAL) CLIENTS.  (3) SUPPORT IN THE POST-IPO SECONDARY MARKET, ESPECIALLY THE REPUTATION OF THE ANALYST WHO WILL COVER THE STOCK.

G. 

WOULD COMPANIES GOING PUBLIC USE A NEGOTIATED DEAL OR A COMPETITIVE BID?

ANSWER:
THE FIRM WOULD ALMOST CERTAINLY USE A NEGOTIATED DEAL.  THE COMPETITIVE BID PROCESS FOR SETTING INVESTMENT BANKERS’ FEES IS FEASIBLE ONLY FOR LARGE, WELL-ESTABLISHED FIRMS ON LARGE ISSUES, AND EVEN HERE THE USE OF BIDS IS RARE FOR EQUITY ISSUES.  THIS IS BECAUSE THE PROCESS OF MAKING A BID IS COSTLY (MAINLY FOR THE RESEARCH NECESSARY TO ESTABLISH THE PRICE, BUT ALSO BECAUSE OF THE NEED FOR SEC REGISTRATION), AND INVESTMENT BANKERS SIMPLY WOULD NOT INCUR THESE COSTS UNLESS THEY WERE ASSURED OF GETTING THE DEAL OR THE ISSUE WAS SO LARGE THAT A HUGE FEE AWAITED THE WINNER.

H.

WOULD THE SALE BE ON AN UNDERWRITTEN OR BEST EFFORTS BASIS?
ANSWER:
MOST STOCK OFFERINGS ARE DONE ON AN UNDERWRITTEN BASIS, BUT THE PRICE IS NOT SET UNTIL THE INVESTMENT BANKER HAS CHECKED INVESTORS FOR INTEREST IN THE STOCK, AND HAS RECEIVED ORAL ASSURANCES OF COMMITMENTS AT A PRICE THAT WILL VIRTUALLY GUARANTEE THE SUCCESS OF THE OFFERING BARRING A MAJOR STOCK MARKET COLLAPSE.  SO, THERE IS LITTLE EFFECTIVE DIFFERENCE BETWEEN A BEST EFFORTS AND AN UNDERWRITTEN DEAL.

I.

WITHOUT ACTUALLY DOING ANY CALCULATIONS, DESCRIBE HOW THE PRELIMINARY OFFERING RANGE FOR THE PRICE OF AN IPO WOULD BE DETERMINED?
ANSWER:
SINCE THE FIRM IS GOING PUBLIC FOR THE FIRST TIME, THERE IS NO ESTABLISHED PRICE FOR ITS STOCK.  THE FIRM AND ITS INVESTMENT BANKER WOULD PROJECT FUTURE EARNINGS AND FREE CASH FLOWS.  THE BANKER WOULD THEN COMPARE THE FIRM WITH OTHER RESTAURANT FIRMS OF SIMILAR SIZE.  THE BANKER WOULD TRY TO DETERMINE A PRICE RANGE FOR THE FIRM’S STOCK BY APPLYING THE PRICE/EARNINGS RATIOS, PRICE/DIVIDENDS RATIOS, AND PRICE/BOOK VALUE RATIOS OF SIMILAR FIRMS TO THE FIRM’S EARNINGS, DIVIDENDS, AND BOOK VALUE DATA.  THE BANKER WOULD ALSO DETERMINE THE PRICE AT WHICH THE FIRM’S STOCK WOULD HAVE TO SELL TO EARN THE SAME RATE OF RETURN AS OTHER FIRMS IN ITS INDUSTRY.  ON THE BASIS OF ALL THESE FACTORS, THE INVESTMENT BANKERS WOULD DETERMINE A BALLPARK PRICE. THEY WOULD THEN SPECIFY A RANGE (I.E., $10 TO $12) IN THE PRELIMINARY PROSPECTUS.

J.

WHAT IS A ROADSHOW?  WHAT IS BOOKBUILDING?
ANSWER:
THE SENIOR MANAGEMENT TEAM, THE INVESTMENT BANKER, AND THE LAWYER MAKE PRESENTATIONS TO POTENTIAL INSTITUTIONAL INVESTORS. THEY USUALLY VIST TEN TO TWENTY CITIES, AND MAKE THREE TO FIVE PRESENTATIONS IN EACH CITY.  MANAGEMENT CAN’T SAY ANYTHING THAT IS NOT IN THE REGISTRATION STATEMENT, BECAUSE THE SEC IMPOSES A “QUIET PERIOD” FROM THE TIME IT MAKES THE REGISTRATION EFFECTIVE UNTIL 25 DAYS AFTER THE STOCK BEGINS TRADING.  THE PURPOSE IS TO PREVENT SELECT INVESTORS FROM GETTING INFORMATION THAT IS NOT AVAILABLE TO OTHER INVESTORS.




DURING THE ROADSHOW, THE INVESTMENT BANKERS ASKS THE INVESTORS TO INDICATE HOW MANY SHARES THEY PLAN ON BUYING.  THE BANKER RECORDS THIS IN HIS BOOK.  THE BANKER HOPES FOR OVERSUBSCRIPTION.  BASED ON DEMAND, THE BANKER SETS THE FINAL OFFER PRICE ON THE EVENING BEFORE THE STOCK IS ISSUED. 

K.

DESCRIBE THE TYPICAL FIRST-DAY RETURNS OF AN IPO AND THE LONG-TERM RETURNS TO IPO INVESTORS.
ANSWER:
FIRST-DAY RETURNS AVERAGE 14.1%, WITH MANY STOCKS HAVING MUCH HIGHER RETURNS. THE INVESTMENT BANKER HAS AN INCENTIVE TO SET A LOW PRICE, BOTH TO MAKE ITS BROKERAGE CUSTOMERS HAPPY AND TO MAKE IT EASY TO SELL THE ISSUE, WHEREAS THE FIRM WOULD LIKE TO SET AS HIGH A PRICE AS POSSIBLE.  RETURNS OVER THE TWO-YEAR PERIOD FOLLOWING THE IPO ARE GENERALLY LOWER THAN FOR COMPARABLE FIRMS, INDICATING THAT THE OFFERING PRICE IS TOO LOW, BUT THAT THE FIRST-DAY RUN-UP IS TOO HIGH.

L.

WHAT ARE THE DIRECT AND INDIRECT COSTS OF AN IPO?
ANSWER:
THE UNDERWRITER USUALLY CHARGES A 7% FEE, BASED ON THE OFFER PRICE.  IN ADDITION, THERE ARE DIRECT COSTS TO LAWYERS, ACCOUNTANTS, PRINTERS, ETC. THAT CAN EASILY TOTAL $400,000.

INDIRECT COSTS INCLUDE THE MONEY LEFT ON THE TABLE, WHICH IS EQUAL TO THE DIFFERENCE BETWEEN THE OFFER PRICE AND END-OF-FIRST-DAY PRICE, MULTIPLIED BY THE NUMBER OF SHARES.  ALSO, MUCH OF MANAGEMENT’S TIME AND ATTENTION IS CONSUMED BY THE IPO IN THE MONTHS PRECEDING THE IPO.

M.

WHAT ARE EQUITY CARVE-OUTS?
ANSWER:
EQUIT CARVE-OUTS ARE A SPECIAL TYPE OF IPO IN WHICH A PUBLIC COMPANY CREATES A NEW PUBLIC COMPANY FROM ONE OF ITS SUBSIDIARIES BY ISSUING PUBLIC STOCK IN THE SUBSIDIARY.  THE PARENT USUALLY RETAINS A CONTROLLING INTEREST.

N.

IN WHAT OTHER WAYS ARE INVESTMENT BANKS INVOLVED IN ISSUING SECURITIES?
ANSWER:
INVESTMENT BANKERS HELP COMPANIES WITH SHELF REGISTRATION (SEC RULE 451) IN WHICH SECRUTIES ARE REGISTERED BUT NOT ALL OF THE ISSUE IS SOLD AT ONCE.  INSTEAD, THE COMPANY SELLS A PERCENTAGE OF THE ISSUE EACH TIME IT NEEDS TO RAISE CAPITAL.

INVESTMENT BANKERS ALSO HELP PLACE PRIVATE AND PUBLIC DEBT ISSUES. THEY ALSO HELP IN SEASONED EQUITY OFFERS, IN WHICH A PUBLIC FIRMS ISSUES ADDITIONAL SHARES OF STOCK.

O.

WHAT IS A RIGHTS OFFERING?

ANSWER:
WHEN A FIRM SELLS NEWLY ISSUED STOCK TO EXISTING SHAREHOLDERS, THE STOCK FLOTATION IS CALLED A RIGHTS OFFERING.  A RIGHTS OFFERING PROBABLY WOULD NOT MAKE SENSE IN THIS CASE.  THE FAMILY MEMBERS WOULD JUST BUY MORE STOCK PRIVATELY IF THEY HAD ENOUGH MONEY TO MEET THE COMPANY’S NEEDS, AND THAT WOULD BE THE ONLY SITUATION WHERE A CLOSELY HELD COMPANY WOULD WANT TO USE A RIGHTS OFFERING.  IN THIS CASE, IF RIGHTS WERE USED THE FAMILY STOCKHOLDERS WOULD GET RIGHTS, BE UNABLE TO EXERCISE THEM BECAUSE THEY WOULD NOT HAVE THE MONEY, AND THEN BE UNABLE TO SELL THEM TO SOMEONE ELSE WHO COULD EXERCISE THEM BECAUSE OF THE COMPANY’S CLOSELY HELD STATUS.  SO, WHILE A RIGHTS OFFERING COULD LEGALLY BE USED, IT JUST WOULD NOT MAKE GOOD FINANCIAL SENSE.

P.

WHAT IS MEANT BY GOING PRIVATE? WHAT ARE SOME ADVANTAGES AND DISADVANTAGES?

ANSWER:
GOING PRIVATE IS THE REVERSE OF GOING PUBLIC.  TYPICALLY, THE MANAGERS OF A FIRM TEAM UP WITH A SMALL GROUP OF OUTSIDE INVESTORS, WHO FURNISH MOST OF THE EQUITY CAPITAL, AND PURCHASE ALL OF THE PUBLICLY HELD SHARES OF THE COMPANY.  THE NEW EQUITY HOLDERS USUALLY USE A LARGE AMOUNT OF DEBT FINANCING, UP TO 90 PERCENT, TO COMPLETE THE PURCHASE. SUCH A TRANSACTION IS CALLED A “LEVERAGED BUYOUT (LBO).”

GOING PRIVATE GIVES THE MANAGERS GREATER INCENTIVES AND MORE FLEXIBILITY IN RUNNING THE COMPANY.  IT ALSO REMOVES THE BURDEN OF SEC FILINGS, STOCKHOLDER RELATIONS, ANNUAL REPORTS, ANALYST MEETINGS, AND SO ON.  THE MAJOR DISADVANTAGE OF GOING PRIVATE IS THAT IT LIMITS SIGNIFICANTLY THE AVAILABILITY OF NEW CAPITAL.  SINCE THE STOCK IS NOT PUBLICLY TRADED, A NEW STOCK ISSUE WOULD NOT BE PRACTICAL, AND, SINCE SUCH FIRMS ARE NORMALLY LEVERAGED TO THE HILT, IT IS TOUGH TO FIND ADDITIONAL DEBT FINANCING.  FOR THIS REASON, IT IS COMMON FOR FIRMS THAT HAVE RECENTLY GONE PRIVATE TO SELL OFF SOME ASSETS TO QUICKLY REDUCE THE DEBT BURDEN TO MORE CONVENTIONAL LEVELS TO GIVE ADDED FINANCIAL FLEXIBILITY.

AFTER SEVERAL YEARS OF OPERATING THE BUSINESS AS A PRIVATE FIRM, THE OWNERS TYPICALLY GO PUBLIC AGAIN.  AT THIS TIME, THE FIRM IS PRESUMABLY OPERATING AT ITS PEAK, AND IT WILL COMMAND TOP DOLLAR COMPARED TO WHEN IT WENT PRIVATE.  IN THIS WAY, THE EQUITY INVESTORS OF THE PRIVATE FIRM ARE ABLE TO RECOVER THEIR INVESTMENT AND, HOPEFULLY, MAKE A TIDY PROFIT.  SO FAR LBOs HAVE, ON AVERAGE, BEEN EXTREMELY PROFITABLE--SINCE THE 1970S, WHEN LBO FIRMS SUCH AS KOHLBERG KRAVIS ROBERTS (KKR) BEGAN OPERATING, THEIR ANNUAL RATES OF RETURN ARE REPORTED TO HAVE AVERAGED OVER 50 PERCENT ANNUALLY.  HOWEVER, WALL STREET IS BECOMING INCREASINGLY CONCERNED ABOUT THE USE OF DEBT, AND IN THE BEGINNING OF THE NINETIES THE NUMBER OF NEW LBOs HAS FALLEN DRAMATICALLY AND SOME OLD ONES HAVE HAD MAJOR FINANCIAL DIFFICULTIES.

Q.

HOW DO COMPANIES MANAGE THE MATURITY STRUCTURE OF THEIR DEBT?
ANSWER:
IN DISCUSSING THIS QUESTION, WE EMPHASIZE THAT, IF MARKETS ARE TRULY EFFICIENT AND CONDITIONS ARE STABLE, THE TYPE OF DEBT INSTRUMENT WILL BE IMMATERIAL, AS THE COST OF EACH WILL BE COMMENSURATE WITH ITS RISK. HOWEVER, IF MARKETS ARE NOT TOTALLY EFFICIENT (PERHAPS BECAUSE MANAGEMENT HAS INFORMATION WHICH INVESTORS DO NOT HAVE), IF THE COMPANY’S TAX POSITION CHANGES, IF SOME NEW SECURITY INNOVATION IS DEVELOPED, OR THE LIKE, THEN SOME TYPES OF SECURITIES MIGHT TRULY BE LESS EXPENSIVE, ON A RISK-ADJUSTED BASIS, THAN OTHERS.

FACTORS THAT INFLUENCE THE DECISION TO ISSUE LONG-TERM BONDS RATHER THAN SHORT-TERM DEBT:

· MATURITY MATCHING (ASSETS TO BE FINANCED)

· INFORMATION ASSYMETRIES.  IF MANAGERS KNOW THAT THE FIRM HAS STRONG PROSPECTS, THEY WILL ISSUE SHORT-TERM DEBT AND REFINANCE LATER WHEN THE MARKET RECOGNIZES THEIR PROSPECTS.

R.

WHAT ARE ZERO COUPON BONDS?  BRIEFLY DESCRIBE THEIR TAX TREATMENT.
ANSWER:
ZERO COUPON BONDS HAVE NO COUPON AND SO THE COMPANY DOESN’T HAVE TO PAY INTEREST.  THEY ARE SOLD AT A DISCOUNT.  FOR EXAMPLE, IF THE MARKET INTEREST RATE IS 9% AND THE MATURITY IS 5 YEARS, THE PRICE IS:





PRICE5 = $1,000 / (1.09)5 = $643.93.

 


EACH YEAR THE COMPANY GETS TO DEDUCT AN INTEREST EXPENSE, EVEN THOUGH IT MADE NO INTEREST PAYMENT.  THE AMOUNT OF THE DEDUCTION IS FOUND BY CALCULATING THE PRICE OF THE BOND, BASED ON THE ORIGINAL YIELD AND THE REMAINING YEARS TO MATURITY.  FOR EXAMPLE, AFTER ONE YEAR, THE BOND HAS FOUR REMAINING YEARS, AND ITS IMPUTED PRICE IS:





PRICE4 = $1,000 / (1.09)4 = $708.43.




THEREFORE, THE IMPUTED INTEREST IS $58.50 = $708.43 - $643.93.

S.

UNDER WHAT CONDITIONS WOULD A FIRM EXERCISE A BOND’S CALL PROVISION?
ANSWER:
REFUNDING DECISIONS INVOLVE TWO SEPARATE QUESTIONS:  (1) IS IT PROFITABLE TO CALL AN OUTSTANDING ISSUE IN THE CURRENT PERIOD AND REPLACE IT WITH A NEW ISSUE; AND (2) IF REFUNDING IS CURRENTLY PROFITABLE, WOULD THE VALUE OF THE FIRM BE INCREASED EVEN MORE IF THE REFUNDING WERE POSTPONED TO A LATER DATE?  IF THESE TWO CONDITIONS ARE TRUE, A COMPANY WOULD EXERCISE THEIR BOND’S CALL PROVISION.

T.

EXPLAIN HOW FIRMS MANAGE THE RISK STRUCTURE OF THEIR DEBT WITH:  (1) PROJECT FINANCING, AND (2) SECURITIZATION.

ANSWER:
1.
PROJECT FINANCINGS ARE ARRANGEMENTS USED TO FINANCE MAINLY LARGE CAPITAL PROJECTS SUCH AS ENERGY EXPLORATIONS, OIL TANKERS, REFINERIES, UTILITY POWER PLANTS, AND SO ON.  USUALLY, ONE OR MORE FIRMS (SPONSORS) WILL PROVIDE THE EQUITY CAPITAL REQUIRED BY THE PROJECT, WHILE THE REST OF THE PROJECT’S CAPITAL IS SUPPLIED BY LENDERS AND LESSORS.  THE MOST IMPORTANT ASPECT OF PROJECT FINANCING IS THAT THE LENDERS AND LESSORS DO NOT HAVE RECOURSE AGAINST THE SPONSORS; THEY MUST BE REPAID FROM THE PROJECT’S CASH FLOWS AND THE EQUITY CUSHION PROVIDED BY THE SPONSORS.

2.
SECURITIZATION IS THE PROCESS WHEREBY FINANCIAL INSTRUMENTS THAT WERE PREVIOUSLY THINLY TRADED ARE CONVERTED TO A FORM THAT CREATES GREATER LIQUIDITY.  SECURITIZATION ALSO APPLIES TO THE SITUATION WHERE SPECIFIC ASSETS ARE PLEDGED AS COLLATERAL FOR SECURITIES, AND HENCE ASSET-BACKED SECURITIES ARE CREATED.  ONE EXAMPLE OF THE FORMER IS JUNK BONDS; AN EXAMPLE OF THE LATTER IS MORTGAGE-BACKED SECURITIES.
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